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sinf sin35
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(b) P, tand - Py = tanf  tan35° 4284 N ~ Po =428 N |
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P, =100N, P,=150N, P, =200N
6 =30°, R=R| (= R, =0)

(@) R, = =F,
= P, cosa + P, cos(at0) - P, cosa
= P, (cosa cosf - sina sinf) - (P;—P;) cosa = 0
= (P, cosh - P; + P;) cosa = (P, sinf) sina

_ Pycos — Py + P (150 N) cos30° — (200 N) + (100 N)
= tana =

P, sinf (150 N) sin30° = 0.3987
= a = tan'(0.3987) = 21.74° = a = 21.7°

(b) R, = %F,

= -P, sina - P, sinla+6) - P, sina

—-(100 N) sin21.7° = (150 N) sin(21.7°+30°) - (200 N) sin21.7°
= -228.6 N

R=229N | = R =229 N



